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Sub-Section Number : 1
Sub-Section Id : 603489556
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 60348915434 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Third-Party logistics distribution centres of Starbucks, is an example for which of the following?

1. Forward integration
2. Backward integration
3. Horizontal integration
4. Digital integration
Options:
60348958057. 1
60348958058. 2
60348958059. 3

60348958060. 4

Question Number : 2 Question Id : 60348915435 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Amul, selling its products on Amazon. com is a process that is associated with which of the

following?

1. Plan

2. Source
3. Make
4. Deliver



Options :

60348958061. 1
60348958062. 2
60348958063. 3
60348958064. 4

Sub-Section Number : 2
Sub-Section Id : 603489557
Question Shuffling Allowed : Yes

Question Number : 3 Question Id : 60348915436 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Customer surplus is customer dissatisfaction.
1. True

2. False

Options :

60348958065. 1

60348958066. 2

Sub-Section Number : 3
Sub-Section Id : 603489558
Question Shuffling Allowed : Yes

Question Number : 4 Question Id : 60348915437 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of these business terms describes the impact of economics on replenishing natural
resources, renewable energy and carbon footprints leading to a need for resource substitution
and processes in supply chains of housing sectors?

1. Environmental
2. Regulatory

3. Social

4. Technological

Options :

60348958067. 1
60348958068. 2
60348958069. 3
60348958070. 4

Question Number : 5 Question Id : 60348915438 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the customer value delivered by the street vendor is INR.150/kg of apple and the supply
chain cost is INR.80/kg of apple. What is the Supply Chain Surplus?

1. INR 80
2. INR 150
3. INR70
4. INR 230

Options :

60348958071. 1
60348958072. 2
60348958073. 3

60348958074. 4

Question Number : 6 Question Id : 60348915439 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Empowered employees and incorporating suggestions from supplier to customer into process
resulting in cost reduction and quality improvement is due to which of the V4L supply chain
processes of Toyota?.

1. Velocity

2. Variety

3. Learning

4. Visibility
Options :
60348958075. 1
60348958076. 2
60348958077. 3

60348958078. 4

Question Number : 7 Question Id : 60348915440 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these are cross-functional drivers of the supply chain?
A. Information

B. Sourcing

C. Pricing

D. Transportation

Choose the correct answer from the options given below:

1. A, B and D only
2. A Band C only
3.A, C and D only
4. A B, Cand D only.

Options :

60348958079. 1
60348958080. 2
60348958081. 3

60348958082. 4



Question Number : 8 Question Id : 60348915441 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

List | List 11

Customer Value :
Customer Offerings

. Creating convenient product variety or assortment

A. Economic

achieved by the economy of scope

Il.Customization of products achieved by adding new product
B. Market ,

features or functions

Ill. Offering products with high quality at a low price through
C. Relevancy L gh qually 3 2

economies of scale and efficiency in product

Choose the correct answer from the options given below:

TA-1LB-I,C-1I
2A-1ILB-1C-l
3A-NLB-1,C-1
4A-1LB-1,C-1
Options :

60348958083. 1
60348958084. 2
60348958085. 3
60348958086. 4

Question Number : 9 Question Id : 60348915442 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is the term that best describes the steps that a customer goes through when identifying
a need, considering, purchasing, using, and maintaining loyalty to a product or service?

1. Consumer behaviour

2. Customer life cycle

3. Customer decision making
4. Demand management

Options :

60348958087. 1
60348958088. 2
60348958089. 3
60348958090. 4

Question Number : 10 Question Id : 60348915443 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is selling related products to the same customers termed as?

1. Co-branding
2. Up-selling

3. Cross-selling
4. Advertising

Options :

60348958091. 1
60348958092. 2
60348958093. 3

60348958094. 4

Sub-Section Number : 4
Sub-Section Id : 603489559
Question Shuffling Allowed : Yes

Question Number : 11 Question Id : 60348915444 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The measurement used to evaluate the success of an activity is the Key Performance Indicator.

1. True
2. False

Options :
60348958095. 1

60348958096. 2

Sub-Section Number : 5
Sub-Section Id : 603489560
Question Shuffling Allowed : Yes

Question Number : 12 Question Id : 60348915445 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Supply Chain, the time between paying for raw materials and getting paid for the services is

termed as

1. Perfect Order Fulfillment
2. Cash to Cash Cycle

3. Delivery Cycle

4. Production Flexibility
Options :
60348958097. 1
60348958098. 2
60348958099. 3

60348958100. 4

Question Number : 13 Question Id : 60348915446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the supply chain performance attribute is measured using supply chain response
time and supply chain adaptability?

1. Reliability

2. Visibility

3. Agility

4. Asset management
Options :
60348958101. 1
60348958102. 2
60348958103. 3

60348958104. 4

Question Number : 14 Question Id : 60348915447 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Sequence the following activities in SCOR implementation process
A. Define scope and process type
B. Define process elements
C. Implement supply chain practices
D. Configure process categories to supply chain process
Choose the correct answer from the options given below

1.ABCD
2B ADC
3.CDEA
4 A CBD

Options :

60348958105. 1
60348958106. 2
60348958107. 3

60348958108. 4



Question Number : 15 Question Id : 60348915448 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of one of these supply chain models define the process blocks as Plan, Relate, Sell,

Contract and Assist?

1. Supply Chain Operations Reference (SCOR) Model.

2. Demand Chain Operations Reference (DCOR) Model.

3. Customer Chain Operations Reference (CCOR) Model.
4. Managing for Supply Chain Performance (M4SC) model.

Options :

60348958109. 1
60348958110. 2
60348958111. 3

60348958112. 4

Sub-Section Number : 6
Sub-Section Id : 603489561
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 60348915449 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ability of the supply chain to deliver the product within a short time after the customer has

placed the order is termed as Push.

1. True
2. False

Options :
60348958113. 1

60348958114. 2

Sub-Section Number : 7

Sub-Section Id : 603489562



Question Shuffling Allowed : Yes

Question Number : 17 Question Id : 60348915450 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A fashion designer who produces apparels for customers after receiving the order and its
specification from the customers has adopted which of the following supply chain strategy?

1. Cycle view

2. Pull processes

3. Push processes
4. Make to stock

Options :

60348958115. 1
60348958116. 2
60348958117. 3

60348958118. 4

Question Number : 18 Question Id : 60348915451 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The strategy of producing and holding inventory of a standard product state based on

anticipated demand but postponing the final manufacturing, customization or distribution of
the product until the customer order is received termed as

1. Replacement

2. Push -Pull boundary

3. Manufacturing Postponement
4. Geographic Postponement

Options :

60348958119. 1
60348958120. 2
60348958121. 3

60348958122. 4



Question Number : 19 Question Id : 60348915452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lack of coordination in supply chain decreases

1. Manufacturing costs
2. Inventory costs

3. Transportation costs
4. Profitability
Options :
60348958123. 1
60348958124. 2
60348958125. 3

60348958126. 4

Question Number : 20 Question Id : 60348915453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term bullwhip effect is related to

1. Assertive customers
2. Inventory turnover
3. Demand variations
4. Return of Inventory
Options :
60348958127. 1
60348958128. 2
60348958129. 3

60348958130. 4

Question Number : 21 Question Id : 60348915454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Collaborative relationships between channel members to seek out inefficiencies in the
ordering/receiving process are an important part of

1. Efficient consumer response (ECR}
2. Preferred logistics

3. Economic order quantity planning
4. Stockout loss planning

Options :

60348958131. 1
60348958132. 2
60348958133. 3

60348958134. 4

Question Number : 22 Question Id : 60348915455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following improve the environmental score of the business?
A. Using renewable energy

B. Recycling of waste materials

C. Fair payment to employees

D. Reduced carbon and other hazardous gas emissions

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, Band Conly

3. A BandD only

4. A and C only

Options :

60348958135. 1
60348958136. 2
60348958137. 3

60348958138. 4



Question Number : 23 Question Id : 60348915456 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following factors enhance sustainability in the supply chain?
A. Ethical sourcing practices

B. Capacity building programs for suppliers

C. Optimal use of technology and data

D. Individual objectives for channel partners

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, Band Conly
3. A, B and D only
4. A Cand D only

Options:

60348958139. 1
60348958140. 2
60348958141. 3
60348958142. 4

Sub-Section Number : 8
Sub-Section Id : 603489563
Question Shuffling Allowed : Yes

Question Number : 24 Question Id : 60348915457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A good forecast enables the manufacturer to follow just-in-time.

1. True
2. False

Options :



60348958143. 1
60348958144. 2

Sub-Section Number : 9
Sub-Section Id : 603489564
Question Shuffling Allowed : Yes

Question Number : 25 Question Id : 60348915458 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the following forecasting methods.

Match List | with List 11

List | List I

Forecasting Methods
Concept

, , |. Imitates the situation and predicts the demand for the
A, Time Series
products.

B. Causal Analysis II. Estimating short term demand using historical data.

, lIl. Predicts demand using mathematical equation involving
C. Linear Trend ) ,
independent, dependent variables and constant.

, ) , IV. Estimate future demand factors using various demand
D. Simulation Analysis bt
actors.

Choose the correct answer from the options given below:

TA-W,B-U,C-1,D-1I
2ZA-LB-1ILC-,D-1V
JA-ILB-IV,C-1I,D-1
4A-W,B-LC-1ILD-1
Options :
60348958145. 1
60348958146. 2
60348958147. 3

60348958148. 4

Question Number : 26 Question Id : 60348915459 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An helps the supply chain to forecast the demand accurately and share
information across the supply chain.

1. Algorithm

2. Variable demand
3. Component

4. Control

Options :

60348958149. 1
60348958150. 2
60348958151. 3

60348958152. 4

Question Number : 27 Question Id : 60348915460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of these influence the supply chain when the manufacturer decides to produce to
meet expected average demand with the constant workforce?

1. Safety stock

2. Stockout / surplus inventory cost
3. Opportunity cost

4. Sales

Options :

60348958153. 1
60348958154. 2
60348958155. 3

60348958156. 4

Question Number : 28 Question Id : 60348915461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

helps the company to minimize cost and optimize the profit of the supply chain.

1. Demand uncertainty

2. Optimal production capacity
3. Pull supply chain

4. Push supply chain

Options :

60348958157. 1
60348958158. 2
60348958159. 3

60348958160. 4

Question Number : 29 Question Id : 60348915462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the supply management approach to capacity decisions

Match List | with List 11

List | List I
Approaches Capacity Decisions
A.Flexible product
i P . Having the second facility to support an increase in demand.
ines
B.Dual Facility Il. Having a flexible workforce to the required working hours.
C.Flexible

: lIl. Buying products from other manufacturers to meet demand.
overtime

) IV. Using the manufacturing production line of one product for
D. Outsourcing

manufacturing other products.

Choose the correct answer from the options given below:

TA-LB-ILC-M,D-1V
2A-1L,B-IILC-IV,D-
3A-IV,B-LC-1LD-1NI
4 A-ILB-ILC-1L,D-IV

Options :

60348958161. 1



60348958162. 2
60348958163. 3

60348958164. 4

Question Number : 30 Question Id : 60348915463 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the consequence when the increase in demand is not anticipated by the warehouse or

the members of the supply chain?

1. Inventory surplus
2. Quantity discount
3. Stockout

4. Replacement

Options:

60348958165. 1
60348958166. 2
60348958167. 3

60348958168. 4

Question Number : 31 Question Id : 60348915464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When demand is constant and cycle inventory and lot sizes are related, the cycle inventory is

the average inventory.

1. Greater than

2. Equal to

3. Lesser than

4 not related to
Options :
60348958169. 1

60348958170. 2



60348958171. 3

60348958172. 4

Sub-Section Number : 10
Sub-Section Id : 603489565
Question Shuffling Allowed : Yes

Question Number : 32 Question Id : 60348915465 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fixed costs associated with buying lot sizes include labour cost.
1. True

2. False

Options :

60348958173. 1

60348958174. 2

Sub-Section Number : 11
Sub-Section Id : 603489566
Question Shuffling Allowed : Yes

Question Number : 33 Question Id : 60348915466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following are characteristics of an effective supply chain?
A. Optimum level of inventory

B. Reduction of costs

C. New products

D. Product availability

Choose the correct answer from the options given below:

1. A, B and D only
2. A, B, Cand D only
3.B,Cand D only
4. A Cand D only

Options :

60348958175. 1
60348958176. 2
60348958177.3
60348958178. 4

Sub-Section Number : 12
Sub-Section Id : 603489567
Question Shuffling Allowed : Yes

Question Number : 34 Question Id : 60348915467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aggregation of inventory can happen not only by physical centralisation of inventory into one
location but also by centralization of information.

1. True
2. False

Options:
60348958179. 1

60348958180. 2

Sub-Section Number : 13



Sub-Section Id : 603489568

Question Shuffling Allowed : Yes

Question Number : 35 Question Id : 60348915468 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the following aggregation of inventory strategies and its related activities in List | with
List Il

List | List 1l
Aggregation of , Activities
Inventory Strategies
A. Customer-driven |. Substitute the product based on its inventory position, the
substitution market forecast and other related information.
B. Manufacturer II. Delay product differentiation until the product is sold in the
driven substitution market.
C. Supplier driven Illl. Higher-value product is purchased when the lower value
substitution product is out of stock
IV. Higher product value configuration is given at a price of lower
D. Postponement configuration when the customer places an order for a lower
configuration that is out of stock

Choose the correct answer from the options given below:

T.A-LB-II,C-IlIlD-IV
2A-ILB-NIL,C-IV,D-l
3.A-NLB-IV,C-I,D-ll
4 A-IV,B-Ill,C-II, D -l

Options :

60348958181. 1
60348958182. 2
60348958183. 3

60348958184. 4

Sub-Section Number : 14
Sub-Section Id : 603489569

Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 60348915469 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Holding costs are those associated with storing inventory that remains unsold.

1. True
2. False

Options:
60348958185. 1
60348958186. 2

Sub-Section Number : 15
Sub-Section Id : 603489570
Question Shuffling Allowed : Yes

Question Number : 37 Question Id : 60348915470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the methods in product availability and its related strategies in List | and List Il

List | List Il

Strategies Activities

A. Volume-based

; , |. Delay product differentiation until the product is sold in the market.
tailored sourcing

B.Product-based |I.Predictable part of a product’s demand is produced at an efficient
tailored sourcing facility, whereas the uncertain portion is produced at a flexible facility.

lll. Low-volume products with uncertain demand are obtained from a
C. Quick response flexible source while high-volume products with less demand
uncertainty are obtained from an efficient source.

IV. Rapid replenishment of a customer's stock by a supplier with

D. Postponement :
direct access to customer data.

Choose the correct answer from the options given below:

T.A-ILB-ULC-IV,D-I
2ZA-ILB-IV,C-1,D-1
3.A-IV,B-IILC-1,D-1
AA-LB-ILC-1ILD-IV



Options :

60348958187. 1
60348958188. 2
60348958189. 3

60348958190. 4

Question Number : 38 Question Id : 60348915471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the opportunity cost per barrel is INR.45 per unit, the incremental cost per barrel is INR.55,
then the minimum transfer price (in INR) will be

1. INR.45
2. INR.100
3. INR.55
4. INR.10

Options :

60348958191. 1
60348958192. 2
60348958193. 3

60348958194. 4

Question Number : 39 Question Id : 60348915472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inspection is an example of which activity level group?

1. Unit level activity

2. Batch level activity
3. Facility level activity
4. Product level activity

Options :

60348958195. 1



60348958196. 2
60348958197. 3

60348958198. 4

Question Number : 40 Question Id : 60348915473 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Differential pricing is effective when which of the following issues are to be dealt with?
A. Differentiate between the market segments and structure its pricing.

B. Control demands such that the lower-paying segment does not utilise the entire availability
of the asset.

C. Secure enough capacity to meet demand from each segment.
D. Standardise promotional price for all segments.
Choose the correct answer from the options given below:

1. A B and C only
2. A B and D only
3.B,Cand D only
4. A B CandD only

Options:

60348958199. 1
60348958200. 2
60348958201. 3
60348958202. 4

Question Number : 41 Question Id : 60348915474 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Price adjustment strategies include which of the following?
A. Discount pricing

B. Promotional pricing

C. Dynamic pricing

D. Fixed pricing

Choose the correct answer from the options given below:

1. A and D only
2. B and D only
3. A, B and D only
4. A B and C only

Options :

60348958203. 1
60348958204. 2
60348958205. 3
60348958206. 4

Question Number : 42 Question Id : 60348915475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the TDD, if a consignment is of value INR 50 lakhs is delayed by three days?

1. INR.50 lakhs
2. 3 days

3. INR.150 lakhs
4. INR.5 lakhs

Options :

60348958207. 1
60348958208. 2
60348958209. 3

60348958210. 4



Question Number : 43 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 60348915476 Question Type : MCQ Option Shuffling : No

The cost of inventory accumulated due to delivery before the due date is termed as

1. Total Dollar Days

2. Throughput Dollar Days

3. Inventory Dollar Days

4. Inventory Velocity Dollar Days

Options :

60348958211. 1
60348958212. 2
60348958213. 3
60348958214. 4

Question Number : 44 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 60348915477 Question Type : MCQ Option Shuffling : No

Disturbances in the supply chain because different players of the supply chain have different

roles, credit periods, methods of payment, sources of finance and financial health leads to the

risk associated with

1. Information flow
2. Fund flow

3. Material flow

4. Management

Options :

60348958215. 1
60348958216. 2
60348958217. 3

60348958218. 4

Question Number : 45 Question Id

: 60348915478 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Goldratt, if the bulk of the stock is in green zone, it means that the buffer

is

1. Large

2. Small

3. Moderate

4. Nil

Options :
60348958219. 1
60348958220. 2
60348958221. 3

60348958222. 4

Sub-Section Number : 16
Sub-Section Id : 603489571
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 60348915479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Pull strategy of Toyota is strengthened by external integration of supply chain

1. True

2. False

Options :

60348958223. 1

60348958224, 2

Sub-Section Number : 17
Sub-Section Id : 603489572

Question Shuffling Allowed : Yes



Question Number : 47 Question Id : 60348915480 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At what phase of Ajmer and Cook framework of the supply chain, the members of the supply
chain strive to make profits for themselves?

1. Communication
2. Competitive
3. Collaborative
4. Cooperative

Options :

60348958225. 1
60348958226. 2
60348958227. 3

60348958228. 4

Question Number : 48 Question Id : 60348915481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sequence the phases in external integration.

A. Work towards your customers.

B. Work on improving integration.

C. Improve the flow of information among the partners.
D. Improve visibility.

Choose the correct answer from the options given below

1.A B CD
2B ADC
3.A,CBD

4 A B D C
Options :
60348958229. 1

60348958230. 2



60348958231. 3

60348958232. 4

Question Number : 49 Question Id : 60348915482 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Goldratt’s simple rule is " If the buffer is too big , reduce it by 33%, if the buffer is too small

increase it by 33%"

1. True

2. False

3. Neither True nor False
4. Partially True

Options :

60348958233. 1
60348958234. 2
60348958235. 3
60348958236. 4

Question Number : 50 Question Id : 60348915483 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does “C" stand for in the Mercedes Benz's global supply chain strategy CASE?

1. Constant supplies

2. Committed suppliers
3. Connectivity

4. Customer-Centric

Options :

60348958237. 1
60348958238. 2
60348958239. 3
60348958240. 4



Question Number : 51 Question Id : 60348915484 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the cost involved in the process of producing or delivering the services expected by

the customers called?

1. Purchasing cost
2. Indirect cost

3. Direct cost

4. Delivering cost

Options :

60348958241. 1
60348958242. 2
60348958243. 3

60348958244. 4

Question Number : 52 Question Id : 60348915485 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Purchasing the raw materials from one of its own subsidiaries outside the country is

1. Domestic External purchasing
2. Global External purchasing
3. Domestic Internal purchasing
4. Global Internal purchasing

Options :

60348958245. 1
60348958246. 2
60348958247.3
60348958248. 4



Question Number : 53 Question Id : 60348915486 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Match the following global purchase strategies to the Nature of Order fulfilment and Delivery

Match List I with List Il

List | List Il

RiEgese St Order Fulfilment and Delivery

A. Fully extended |. Global Order fulfilmentand  domestic delivery
B. Centralized extended Il. Global Order fulfilment and global delivery

C. Semi extended lll. Domestic order fulfilment and domestic delivery
D. Decoupled IV. Domestic order fulfilment and global delivery

Choose the correct answer from the options given below:

LAALB- LT ¥
2A-WLB-1,C-IV,D-Il
3 A-IB -1, C- IV, D~
4 A-MB-ILC-1,D-1

Options :

60348958249. 1
60348958250. 2
60348958251. 3
60348958252. 4

Question Number : 54 Question Id : 60348915487 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The customer takes an additional role of in single level bidirectional
relationship.

1. Service provider
2. Professional

3. Supplier

4. Receiver

Options:

60348958253. 1



60348958254. 2
60348958255. 3

60348958256. 4

Question Number : 55 Question Id : 60348915488 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ultimate aim of SERVQUAL is to understand the

1. Efficiency of service
2. Quality of services

3. Customer satisfaction
4. Supply of service

Options:

60348958257. 1
60348958258. 2
60348958259. 3
60348958260. 4

Question Number : 56 Question Id : 60348915489 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A supply chain that has no integration is in which stage of supply chain maturity?

1. Ad hoc
2. Linked
3. Defined
4. Standard

Options :

60348958261. 1
60348958262. 2
60348958263. 3
60348958264. 4



Question Number : 57 Question Id : 60348915490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ERP system is for integrating the

1. Major departments of an organization
2. Enterprisewide end to end processes
3. Marketing and sales function only

4. Production processes

Options :

60348958265. 1
60348958266. 2
60348958267. 3

60348958268. 4

Question Number : 58 Question Id : 60348915491 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of these is a characteristic of an innovative product?

1. Demand is steady

2. Price and margins are low

3. Price is high during launch and when in demand
4. Routine purchases and steady demand

Options :

60348958269. 1
60348958270. 2
60348958271.3
60348958272. 4

Question Number : 59 Question Id : 60348915492 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of these is the characteristic of an Efficient supply chain?

1. Delivery within 12 hours

2. Meeting extremely volatile customer demands

3. Supply chain configuration where the cost of delivery is low

4. High-value products which are subject to reverse logistics and replacement

Options :

60348958273. 1
60348958274. 2
60348958275. 3

60348958276. 4

Question Number : 60 Question Id : 60348915493 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The outsourcing strategy of Wal-Mart includes which of these vertical?
A. Customer relationship

B. Product innovation

C. Supply chain

D. Manufacturing

Choose the correct answer from the options given below:

1. B and D only

2. A, Band Conly
3.B,Cand D only

4. A B, Cand D only

Options :

60348958277. 1
60348958278. 2
60348958279. 3
60348958280. 4



Question Number : 61 Question Id : 60348915494 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Match the product type and supplier strategy in List | with List Il

List | List 11

Product type Supplier strategy

A. Routine products . Performance-based contract

B. Leverage products Il. Collaborative supply chain

C. Bottleneck products |lll. Qutsourcing or subcontracting

D. Strategic products V. Competitive bidding

Choose the correct answer from the options given below:

T.A-ILB-M,C-1.D-1I
2A-LB-ILC-LD-1V
3.A-ILB-ILC-V, D-1
4 A-ILB-1,C-IV,D-1I

Options :

60348958281. 1
60348958282. 2
60348958283. 3
60348958284. 4

Question Number : 62 Question Id : 60348915495 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of this product type constitute 80% of purchases in Indian firms?

1. Routine

2. Leverage
3. Bottleneck
4. Strategic

Options :

60348958285. 1



60348958286. 2
60348958287. 3

60348958288. 4

Question Number : 63 Question Id : 60348915496 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the following facility types and their strategic roles

Match List | with List 11

List | List Il

Facility |Strategic Role

A. Offshore |I. A regional production facility that uses local skills that exist with the region

1% II. A facility that focuses on development and process technologies creating new
. Source
products and processes

C. Outpost |lIl. A facility where production cost is low for global markets

D. Lead IV. A low-cost production facility to serve markets located outside the country

Choose the correct answer from the options given below:

TA-NLB-IV,C-II,D -l
2A-IV,B-IL,C-LD-N
3.A-LB-,C-IV,D-Ill
4 A-LB-lI,C-IV,D-ll

Options :

60348958289. 1
60348958290. 2
60348958291. 3

60348958292. 4

Question Number : 64 Question Id : 60348915497 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Logistics cost is influenced by which of these?

A. Facility planned

B. Facility Location

C. Capacity of the facility

D. Manufacturing cost

Choose the correct answer from the options given below:

1. A, B and D only
2. A, Band C only
3. A and D only
4. B and D only

Options :

60348958293. 1
60348958294. 2
60348958295. 3
60348958296. 4

Question Number : 65 Question Id : 60348915498 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sequence the phases in the facility network design decision framework.
A. Define the regional facility configuration

B. Location choice

C. Design a supply chain strategy

D. Select a set of desirable potential sites

Choose the correct answer from the options given below

1.ABCD
2CADEB
3.A,B.DC
4B, C D A

: MCQ Option Shuffling : No



Options :

60348958297. 1
60348958298. 2
60348958299. 3
60348958300. 4

Question Number : 66 Question Id : 60348915499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Expand GIS.

1. Graphical Information System
2. Geographic Information System
3. Graphical Interface System

4. General Interface System
Options :

60348958301. 1

60348958302. 2

60348958303. 3

60348958304. 4

Question Number : 67 Question Id : 60348915500 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The party who receives the product through transportation at the destination is known as the

1. Consignor
2. Consignee
3. Carrier
4. Agent

Options :

60348958305. 1



60348958306. 2
60348958307. 3
60348958308. 4

Question Number : 68 Question Id : 60348915501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Carrier Pricing strategy depends on

1. Cost and value of service
2. Joint cost

3. Economies of transport
4. Unit cost of the product

Options:

603489583009. 1
60348958310. 2
60348958311. 3

60348958312. 4

Question Number : 69 Question Id : 60348915502 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the process in which manufacturers plan and stock seasonal goods in the warehouse

to improve their responsiveness to the market?

1. Assortment

2. Spot Stock

3. Value-added service
4. Sorting

Options :
60348958313. 1
60348958314. 2

60348958315. 3



60348958316. 4

Question Number : 70 Question Id : 60348915503 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Integrated Logistics Management is the process of acquiring the capital, materials, people,
technologies, information that is necessary to meet

1. High competition

2. Customer needs

3. Information requirements
4. Hight profits

Options :
60348958317. 1
60348958318. 2
60348958319. 3

60348958320. 4

Question Number : 71 Question Id : 60348915504 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The important decision in is to determine what to manufacture, when to manufacture
and where to manufacture.

1. Work in progress

2. Manufacturing support
3. Scheduling

4. Distribution

Options:

60348958321. 1
60348958322. 2
60348958323. 3
60348958324. 4



Question Number : 72 Question Id : 60348915505 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of these are procurement activities?
A. Material planning

B. Vendor selection

C. Outbound logistics

D. Human resource audit

Choose the correct answer from the options given below:

1. A, B and D only
2.A Cand D only
3.A, BandC only
4. A B CandD only

Options:

60348958325. 1
60348958326. 2
60348958327. 3
60348958328. 4

Question Number : 73 Question Id : 60348915506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When is Buy favourable?

1. Agency cost is less.

2. Quality, design and proprietorship are to be protected.
3. Supplier is not reliable and incompetent.

4. Leveraging limited capacity.

Options :

60348958329. 1

60348958330. 2



60348958331. 3

60348958332. 4

Question Number : 74 Question Id : 60348915507 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The purpose of Request for Information is to get information about which of the following?

1. Supplier capability

2. Price and commercials
3. Value of the material
4. Order placed

Options :

60348958333. 1
60348958334. 2
60348958335. 3

60348958336. 4

Question Number : 75 Question Id : 60348915508 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the Customisation strategies in List | with List 11

List | List Il

Strategies  |Concept

|. Standard product is not customized but packed differently to suit different
A. Transparent
types of customers

B. Adaptive  |Il. Change the product configuration according to the client needs

. [lll. Customise products without informing the clients that products are made
C.Collaborative )
exclusively for them

D. Cosmetic  |IV. One standard product optimized to suit customer expectations

Choose the correct answer from the options given below:

TA-ILB-UWC-LD-IV
2ZA-ILB-IV,C-I,D-1
JA-ILB-IV,C-1I,D-1
4A-1L,B-IV,C-1II,LD-1
Options :
60348958337. 1
60348958338. 2
60348958339. 3

60348958340. 4

Question Number : 76 Question Id : 60348915509 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The strategy wherein the customer can influence the final product by choosing between

standardized components is called

1. Pure Standardisation

2. Customized Standardisation
3. Tailored Customization

4. Pure Customization

Options:
60348958341. 1
60348958342. 2

60348958343. 3



60348958344. 4

Question Number : 77 Question Id : 60348915510 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a manufacturer develops an innovative product and then identifies a suitable target
market and distribution channel, it is

1. Value Chain

2. Value Stream

3. Pull Model of SCM
4. Push Model of SCM

Options :

60348958345, 1
60348958346. 2
60348958347. 3

60348958348. 4

Question Number : 78 Question Id : 60348915511 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the appropriate strategy to achieve the objective of optimising the productivity of
retail space and inventory?

1. Revision of organisation processes supported by information systems.
2. Efficient store assortments.

3. Disintegrate activities into supply chain planning.

4. Efficient replacement.

Options:

60348958349. 1
60348958350. 2
60348958351. 3
60348958352. 4



Question Number : 79 Question Id : 60348915512 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these are characteristics of an Agile organization?
A. Customer-centric.

B. Rigid production systems

C. Quick response to market changes

D. Digitally integrated processes.

Choose the correct answer from the options given below:

1. A, B and D only
. A, Band C only
. A, Cand D only
. A, B, Cand D only

PO

Options :

60348958353. 1
60348958354. 2
60348958355. 3

60348958356. 4

Question Number : 80 Question Id : 60348915513 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of this term means “waste” in lean management?

1. Muri
2. Muda
3. Motion
4, Mura

Options :

60348958357. 1
60348958358. 2
60348958359. 3



60348958360. 4

Question Number : 81 Question Id : 60348915514 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The supply chain process after the decoupling point is

1. Lean

2. Agile

3. Make to Stock

4. Efficiency criented

Options :

60348958361. 1
60348958362. 2
60348958363. 3

60348958364. 4

Question Number : 82 Question Id : 60348915515 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of these is a green outbound activity?

1. Order consclidation.

2. Reuse and recycling of products.

3. Reduced carbon emissions in production processes.
4. Localised sourcing.

Options:

60348958365. 1
60348958366. 2
60348958367. 3
60348958368. 4

Sub-Section Number : 18

Sub-Section Id : 603489573



Question Shuffling Allowed : Yes

Question Number : 83 Question Id : 60348915516 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ISO 14001 has a prerequisite that organisations should have implemented lean and green
supply chain management.

1. True
2. False

Options :
60348958369. 1

60348958370. 2

Sub-Section Number : 19
Sub-Section Id : 603489574
Question Shuffling Allowed : Yes

Question Number : 84 Question Id : 60348915517 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these are true about e- supply chain management in an e-commerce business?
A. Increased efficiency of individual processes.

B. Data integration between elements of the supply chain.

C. Increased costs through outsourcing.

D. Reduced complexity of the supply chain.

Choose the correct answer from the opticns given below:

1. A B and D only
2. A, Cand D only
3.A Band Conly
4. A B Cand D only

Options :



60348958371. 1
60348958372. 2
60348958373. 3

60348958374. 4

Question Number : 85 Question Id : 60348915518 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of this is NOT an application of system software like Zoho in supply chain
management of e-commerce website?

1. Maintain the entire inventory management system.

2. Update and alert about the selling trends of the products.
3. Help in the future prediction of the sales of the products.
4. Control the manufacture of the product by the third party.

Options :

60348958375. 1
60348958376. 2
60348958377. 3

60348958378. 4

Question Number : 86 Question Id : 60348915519 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of these is a measure taken to avoid the return of products by fake customers?

1. Sell in multiple e-commerce sites

2. Do not sell standardised products

3. Do not accept refund/ return policy for customized products
4. Link the manufacturer to the customer

Options :

60348958379. 1

60348958380. 2



60348958381. 3
60348958382. 4

Question Number : 87 Question Id : 60348915520 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a component of the digital supply chain?

1. Internet of Things (loT)
2. Machine Learning

3. Artificial Intelligence

4. All of the above

Options :

60348958383. 1
60348958384. 2
60348958385. 3

60348958386. 4

Question Number : 88 Question Id : 60348915521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

VMI stands for

1. Vendor Managed Inventory
2. Vendor Measured Inventory
3. Value Managed Inventory
4. Value Measured Inventory

Options :

60348958387. 1
60348958388. 2
60348958389. 3

60348958390. 4



Question Number : 89 Question Id : 60348915522 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these are characteristics of a data warehouse?
A. Subject oriented

B. Time variant

C. Non-volatile

D. Integrated

Choose the correct answer from the options given below:

1. A, B and D only
2. A, Band Conly
3.A Cand D only
4. A B, Cand D only

Options :

60348958391. 1
60348958392. 2
60348958393. 3

60348958394. 4

Question Number : 90 Question Id : 60348915523 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pallet Optimization Analytics solution is a component of

1. On-time and In-full Delivery Optimization
2. Distribution and Freight Cost Optimization
3. Purchase Order Flow Management

4. Cost to Serve Optimization

Options :
60348958395. 1
60348958396. 2

60348958397. 3



60348958398. 4

Question Number : 91 Question Id : 60348915524 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

navigates to detailed data by either stepping down a concept hierarchy for a
dimension or introducing additional dimensions.

1. Roll-up

2. Drill-down

3. Slice and dice
4. Pivot (rotate)

Options :

60348958399. 1
60348958400. 2
60348958401. 3

60348958402. 4

Question Number : 92 Question Id : 60348915525 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Using data aggregation and mining to understand what happened and why it happened, is
termed as

1. Descriptive analytics
2. Prescriptive analytics
3. Predictive analytics

4. Optimization analytics

Options:

60348958403. 1
60348958404. 2
60348958405. 3
60348958406. 4



Question Number : 93 Question Id : 60348915526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of them are predictive analytics models?

1. Forecast model
2. Time series model
3. Outliers model
4. All of the above

Options :

60348958407. 1
60348958408. 2
60348958409. 3

60348958410. 4

Question Number : 94 Question Id : 60348915527 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Transactions monitored in real-time using loT sensors provide

1. Clear visibility throughout the supply chain

2. Production planning and scheduling accuracy
3. Equipment maintenance

4. Physical inspection

Options :

60348958411. 1
60348958412. 2
60348958413. 3
60348958414. 4

Question Number : 95 Question Id : 60348915528 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The data mining task that can examine the features of a newly presented object and assigning

it to one of a predefined set of classes is

1. Classification

2. Market Basket anlysis
3. Prediction

4. Neural Network
Options :
60348958415. 1
60348958416. 2
60348958417. 3

60348958418. 4

Sub-Section Number : 20
Sub-Section Id : 603489575
Question Shuffling Allowed : Yes

Question Number : 96 Question Id : 60348915529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Centroid analysis for supply chain optimization considers customer demand and customer

volume

1. True

2. False

Options :

60348958419. 1

60348958420. 2

Sub-Section Number : 21
Sub-Section Id : 603489576
Question Shuffling Allowed : Yes

Question Number : 97 Question Id : 60348915530 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sequence the phases in the fuzzy logic model development process.
A. Rule evaluation

B. Defuzzification

C. Fuzzification

Choose the correct answer from the options given below

1. A B C
2B CA
3.C,AB
4B A C

Options :

60348958421. 1
60348958422. 2
60348958423. 3

60348958424. 4

Question Number : 98 Question Id : 60348915531 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fuzzy logic is usually represented as rules.

1. IF-THEN-ELSE

2. IF-THEN

3. Both IF-THEN-ELSE rules and IF-THEN
4. Neither IF-THEN-ELSE rules nor IF-THEN

Options :

60348958425. 1
60348958426. 2
60348958427. 3

60348958428. 4



Question Number : 99 Question Id : 60348915532 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these are characteristics of blockchain?

A. Decentralised

B. Transparency

C. Immutability

D. Centralised

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, Cand D only
3. A, B and D only
4. A B and C only

Options:

60348958429. 1
60348958430. 2
60348958431. 3

60348958432. 4

Question Number : 100 Question Id : 60348915533 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In value stream mapping, the future state map indicates

1. Value adding activities

2. Perfect process flow after elimination of waste
3. Cause and effect of the processes

4. Expected product demand and value addition
Options :

60348958433. 1

60348958434. 2



60348958435. 3
60348958436. 4



